Signature and Name of Invigilator
1. (Signature)

PAPER-I
OMR Sheet No. :

(Name) (To be filled by the Candidate)
2. (Signature) Roll No.
(Name) (In figures as per admission card)
Roll No.
500 HE
Time : 1%/, hours] Test Booklet Code [Maximum Marks : 100
Number of Pages in this Booklet : 16 Number of Questions in this Booklet : 60
Instructions for the Candidates qhgnteat & fog e

1. Write your roll number in the space provided on the top of [ 1. Teal ¥ % FW fHq M T 30 I Tl [Aaw |
this page. 2. TMU-TT H G (60) Tgrashedd U €, NHH ¥ SHRaR

2. This paper consists of sixty (60) multiple-choice type of i Rl ol TET (50) TR N SR AT @ | SHIGAR R
questions, out of which the candidate would be required to T S WE 1 I o W IFEAR 5 7 T nem
answer any fifty (50) questions. In the event of the candidate YO USHT 1 Hodioh [ohaT STRT |
attempting more than fifty questions, the first fifty questions [ 3. Wil UR™T g W, TRF-GRGdeT STHT § &1 AW | gEet
attempted by the Candidate would be evaluated. o e STushl UeA-gRashT WieH q SEehl et

3. At the commencement of examination, the question booklet St % o0 &2 ST, S/ St STe 3189 e &
will be given to you. In the first 5 minutes, you are requested (i) - @ﬁ(_,ﬁ % et afec S I w5 e
to open the booklet and compulsorily examine it as below : . ‘Gil?ﬁ E'é' o P
(i) Tohave access to the Question Booklet, tear off the paper T ST aﬁr ; T |

seal / polythene bag on the booklet. Do not accept B =3 I > .

a booklet without sticker-seal / without polythene bag (i) e g W BU e aw-f T & A1

and do not accept an open booklet. =t WW},W W%Tﬂ' f&a %' | Fregut
(i) Tally the number of pages and number of questions in > ﬁﬂﬁwmz‘rm@mw grarHiiaea

the booklet with the information printed on the cover A E Fria Rt Wi W %t Ffequt gheent @i T

page. Faulty booklets due to pages/questions missing FHY AT I TAT IH ANCTHT IHSH T UT O Tl

or duplicate or not in serial order or any other UH-gRA®T & & | 38 few el utw faee o

discrepancy should be got replaced immediately by a IR | S EE At mmgﬁammvﬁﬁﬁﬁ

correct booklet from the invigilator within the period ST P ATTRT ST e R S o

of 5 minutes. Afterwards, neither the Question Booklet < 0

will be replaced nor any extra time will be given. (iii) $W3ﬁi%omq%i % 5!7? IS O%R%TWW s
(iii) After this verification is over, the Test Booklet Code e S e )

should be entered in the OMR Sheet and the OMR Sheet ) &

Number should be entered on this Test Booklet. 4. w™E w1 %E%a;f; aﬁ(Q,éB)’ (C) 7 (D) ﬁg

4. Each item has four alternative responses marked (A), (B), (C) N, %l:ﬁﬁ R U l‘_ﬁ (T I Y
and (D). You have to darken the circle as indicated below on j - 3
the correct response against each item. ST () @ O TF©TIHE |
Example : 5. UPAUR | ARHEE-UH || % T Us E OMR e & it 30 0o
where (C) is the correct response. afetet & ot fear mar | oAl % SR et OMR W R

5. Your responses to the items are to be indicated in the OMR W &l T FA € | A5 AT OMR W W F T g %
Sheet given inside this Booklet, which is common for AT Tl o W W SR Taeifhd #a €, ar S
Paper I and Paper I1. If you mark at any place other than in T B
the circle in the OMR Sheet, it will not be evaluated. 6. 3I=Y T ™ TR @ W e |

6. Read instructions given inside carefully. 7. edl M (Rough Work) 39 JReehl & 21fH g8 0 &Y |

7. Rough Work is to be done in the end of this booklet. 8. T 3T OMR T W g T & 3feqen Ao 7, Ut

8. If you write your Name, Roll Number, Phone Number or put TR, B T I HS o 09 foed fed e wewe @
any mark on any part of the OMR She_et, except forthe space T, 3ifRd G § STIET 3TE WIOT T VAT 9§, A1 B
allotted for the relevant entries, which may disclose your T ST WET WA £ wen % o eEm
identity, or use abusive language or employ any other unfair P R e
means, you will render yourself liable to disqualification. Y ot ;

9. You have to return the original OMR Sheet to the invigilators 9. i ey gw%yﬁgm gz
at the end of the examination compulsorily and must not ¥ Y YT T | BT ST T R or
carry it with you outside the Examination Hall. You are omiﬁaﬁ:saﬁwq - TE
however, allowed to carry duplicate copy of OMR Sheet on ; .
conclusion of examination. 10, ahefet Ffel/HTet ST WS U T & FEwIer b |

10. Use only Blue/Black Ball point pen. 1. feesdt oft FER]WW (FTHEET) AT T o S BT

11. Use of any calculator or log table etc., is prohibited. T ai@l.a . L e

Y J P 12. T IaRt & TeTT @tg ofdh 1 el S |

12. There is no negative marks for incorrect answers.

Y-00 |

P.T.O.



Y-00

FOR OFFICE USE ONLY
Marks Obtained
S8 |28 |8 |¢E | 85| ¢k
S5 |55 |85 | S5 | 85| &8
oz @) o=z (@) oz (@)
1 21 41
2 22 42
3 23 43
4 24 44
5 25 45
6 26 46
7 27 47
8 28 48
9 29 49
10 30 50
11 31 51
12 32 52
13 33 53
14 34 54
15 35 55
16 36 56
17 37 57
18 38 58
19 39 59
20 40 60
Total Marks Obtained (iNWOrdS) .........ccceoeireneiincrieeene
(INTIQUIES) v
Signature & Name of the Coordinator ............ccccocevevriennnene.
(Evaluation) Date ..o




This paper contains Sixty (60) multiple choice questions, each question carrying two (2) marks.

In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions will

Note: e
¢ Candidate is expected to answer any Fifty (50) questions.
be evaluated.
A o TH UL H 916 (60) TErohedId UeA € | Ui U9 &t (2) FFH T |
o 3 BT HIE A T (50) T F ST A € |
o A UETE (50) T 3Tk TET % IR ST o Mo g (50) W & Siret S |
1. A deductive argument can not be

valid :

(A) If its premise / premises is/are
true and its conclusion is true.

(B) If its premise / premises is /are
true and its conclusion is false.

(C) If its premise / premises is/are
false and its conclusion is false.

(D) If its premise / premises is / are
false and its conclusion is true.

An analogical argument is

strengthened by

(A) making the claim bolder while
its premises remain unchanged.

(B) reducing the claim made on the
basis of the premises affirmed.

(C) remaining the claim unchanged
while the evidence in its support
is found to exhibit greater frailty.

(D) None of the above.

If two propositions cannot both be
false but may both be true, what is the
relation between the two propositions ?
(A) Contrary

(B) Sub-contrary

(C) Sub-alternation

(D) Contradictory

Given below are some codes of
arrangements of three items in order of
wider scope. Select the correct code.

(A) Garments, cloth and shirts

(B) Cloth, garments and shirts

(C) Shirts, garments and cloth

(D) Garments, shirts and cloth

What is equivalent of the statement

‘All atheists are pessimists’ ?

(A) AIll non-pessimists are non-
atheists.

(B) AIll non-atheists are non-
pessimists.

(C) All pessimists are atheists.

(D) None of the above.
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In the following table, trends in production
of energy in India by primary sources are
given. Study the table and answer
Question Nos. 6 to 9 : (Production in peta
Joules)

T &t T IR § 9RA § WA Al R
Sl SEATEA 1 TG &F TS & | RO h TghT
9 T 6 | 9 % IR JITIT

(STTRA YT 5[ H)

Year |Coal & (P:rude Natural |[Electricity | Total
- etro-
Lignite leum Gas |(Hydro &

Nuclear)

2006-07| 7459 | 1423 1223 4763 |14,868

qAT | UierEw | T

A

Jg | HHEET | FeAl (Wiptaw| fawm | e
ot
w

BT
37

9

2007-08| 7926 | 1429 1248 4944 15,547

2006-07| 7459 1423 1223 | 4763 | 14,868

2008-09| 8476 | 1403 1265 5133  |16,277

2007-08| 7926 1429 1248 | 4944 | 15,547

2009-10f 9137 | 1411 1830 4511 |16,889

2008-09| 8476 1403 1265 | 5133 | 16,277

2009-10| 9137 1411 1830 | 4511 |16,889

2010-11} 9207 | 1579 2012 5059  |17,857

2010-11| 9207 1579 2012 | 5059 |17,857

6. In which vyear primary sources
recorded the lowest growth in total
production of energy ?

(A) 2007-08 (B) 2008-09
(C) 2009-10 (D) 2010-11

7. Which source of energy has shown
the highest growth rate in production
during 2006-07 to 2010-11 ?

(A) Coal & lignite

(B) Crude petroleum

(C) Hydro & nuclear electricity
(D) Total production of energy

8. Which one of the following primary
sources of energy has recorded the
highest growth in production in
2008-09 ?

(A) Coal & lignite

(B) Crude petroleum

(C) Natural gas

(D) Hydro & nuclear electricity

9. In which year, production of hydro
and nuclear electricity was almost
double the production of crude
petroleum and natural gas taken

together ?
(A) 2006-07  (B) 2007-08
(C) 2008-09 (D) 2009-10

Y-00

6. g o H watge &Al § FA ol
IR i g Ford HH IT i TS 2
(A) 2007-08 (B) 2008-09
(C) 2009-10 (D) 2010-11

7. T 2006-07 ¥ 2010-11 Sl 3@ty T S0
o Tohd B H SATsha™ 3cre ghg & &5
EORIER
(A) AT TAT T FHIFAT
(B) e ugiferaq
(C) Tt Td vTia faegd
(D) Sl BT et ST

8. 2008-09 W I & fhE &I HT e
3R o1 foRaT T 2
(A) HIEAT S G BT
(B) e ugiferaq
(C) Wl ™
(D) STt TH TG [

9. TFE A Fear Ugiierdd qe WIiaE 19
T Rl AR gT Sere @ T S
o1 U ST ferf ot g3 ?

(A)  2006-07

(B) 2007-08

(C) 2008-09 (D) 2009-10




10.

11.

12.

13.

14.

The Internet ethical protocol is called
(A) net protocol (B) netiquette
(C) netethics (D) net morality

Commercial messages on the net are
identified as

(A) Netads
(B) Internet commercials
(C) Webmercials

(D) Viral advertisements

Manuel Castelle was the first to use
the term

(A) Internet society
(B) Electronic society
(C) Network society

(D) Telematic society

GIF stands for

(A) Global Information Format
(B) Graphics Information Format
(C) Graphics Interchange File
(D) Graphics Interchange Format

Which one of the following is not an
Operating System ?

(A) 1BM AIX
(B) Linux

(C) Sun Solaris
(D) Firefox
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15. Which of the following is/are a
minority institution(s) ?
1. Punjabi University, Patiala
2. Osmania University, Hyderabad
3. Kashmir University, Srinagar
4.  St. Stephens College, Delhi
Select the correct answer from the
code given below :

Codes :
(A) land2 (B) 2and4
(C) 2only (D) 4only

16. Which of the following statements are
correct about the National Advisory
Council (NAC) ?

1.  The National Advisory Council
is a statutory body.

2. It is headed by the Prime
Minister of India.

3. It facilitates constant interaction
with the leaders of civil society.

4. It provides policy and legislative
inputs to the Government of
India.

Select the correct answer from the

code given below :

Codes :
(A) 1,2and3 (B) 2,3and4
(C) 1,3and4 (D) 3and4

17. Which of the following are voluntary
provisions in the 73" Constitutional
Amendment Act (1992) ?

1. Minimum age of 21 for contesting
elections to Panchayats.

2. Indirect elections to the post of
Chairperson of Panchayats at the
intermediate and district levels.

3. Representation of Members of
Parliament and State Legislature
on Panchayati Raj institutions.

4. Reservation of seats for backward
classes.

Select the correct answer from the

code given below :

Codes :
(A) 1,2and4 (B) 2,3and4
(C) 1,2and3 (D) 3and4

Y-00

15.

16.

17.

feffed & @ 9 @ SEEEn

CTEETH BfE 2

1. Oeet fovataarea, gfearen

2. S fovafomner, dees

3. YR favatommer, SR

4, U THT FHiew, foetl

T T T e W E ST H 99 DI

YA

(A) 132 (B) 23R4

(C) waet2 (D) ot 4

LT FARHR URUE (NAC) & aR |

fefeiiae 5 9 &9 | %uT Tl € 2

1. U GeeHR URuS U difarass
frra ¥ |

2. 9RA % UEHHE 39 AT € |

3. I fafoe AEm@Edt & Adqret & d@g
qAd AN HEH-USH g
TAAE |

4. TE URG WHR H Add AT
Toumlt SR ATl UeH € |

HE

(A) 1,233 (B) 2,334

(C) 1,334 (D) 334

733 Wia™ S9N U (1992) & i &
e T & 9

1. O o gAE A o o A
Mg T 21 A

2. TeEEdl ud el W) W UaEdar &
3TeAeT o oI STeIeT AT

3. UOmEd U SEmel § OWEg adm
T fguam Ovsd % SeEl H
yfartac

4, TUSS A o foTT Wil =l ST

e 5T 7T T 9 &l S gHT

FIE

(A) 1,27a4 (B) 2,3dar4

(C) 1,273 (D) 3@=4




18. In which of the following States the

19.

20.

segment of population, which is in

majority, enjoys the benefit of
reservation of seats in the State
Assembly ?

(A) Meghalaya and Mizoram

(B) Assam and Nagaland

(C) Madhya Pradesh and Assam

(D) Rajasthan and Arunachal Pradesh

Which of the following are the ways
of acquiring Indian citizenship ?

1. Birth

2.  Descent

3. Naturalisation

4.  Incorporation of territory

Select the correct answer from the
code given below :

Codes :
(A) land2
(C) 1,2and3

(B) land4
(D) 1,2,3and4

Which of the following statements
about the Union Public Service
Commission are correct ?

1.  UPSC is a Constitutional body.
2. Itserves as an advisory body.

3. It is called upon to advise the
Government in  regard to
representation of the Scheduled
Castes and Scheduled Tribes in
the Civil Service.

4. It is consulted on appointments
of Chairman and members of
Tribunals and Commissions.

Select the correct answer from the
code given below :

Codes :
(A) 1,2and3
(C) 1,3and4

(B) 1,2and4
(D) 1and2
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FAafafeg 9 9 fo7 T ¥ SHEE &
T T el T 3TEI0T T T U & 2

(A) e 9gT R

(B) T qAT ANICIS
(C) +=g U=eT a1 ST

(D)  TISTEIA AT STEUTA TR

frfefea 4 @ fF7 el @ araE
TR ST ol ST Gehell & 2

1. 9

2. e (fede)

3. QeI

4, T FTHATH A

dr 5T T BT ¥ W@l SO H g9
HIT

B

(A) 132 (B)
(C) 1,233 (D)

1 3T 4
1,2,3 34

He Wk Hall & & O] | FEtetiad |

Y BT ¥ HUT R T 2

1. I9 % 991 AET U Gouneh
[EEIE R

2. I€ UH ToRHR M & ®7 °
FH A |

3. IHY I8 STUsT & Sl € o %
SFgrad a3 e
SSqal o fafeer em H
i F IR § TE T |

4. SATIHION ST AN F eI qAT
@ H IR R qHa 39
YT forar ST € |

9 iU 7T @i 9 ¥ Wel W B A9
FITT

B

(A) 1,233 (B) 1,234
(C) 1,334 (D) 13WR2

P.T.O.




Read the following passage carefully and answer Question Nos. from 21 to 26 :

I had occasion to work with her closely during the Women’s International Year in 1975
when she was chairing a Steering Committee and made me the member in charge of publicity.
Representatives from different political parties and women’s organizations were on the
committee and though the leftists claimed a sort of proprietary right over her, Aruna
encouraged and treated all members alike. It was not her political affiliations or her
involvement in a particular cause, which won her respect and recognition, but her utter honesty
in public life, her integrity and her compassion for the oppressed which made her an adorable
person. She had the courage to differ with and defy the mightiest in the land; yet her human
spirit prompted her to work in the worst of slums to offer succour to the poor and the exploited.

In later years — around late eighties and early nineties — Aruna Asaf Ali’s health began to
deteriorate. Though her mind remained alert, she could not actively take up her pet causes —
action for women’s advancement, planning for economic justice, role of media, reaffirmation
of values in public affairs etc. Slowly, her movements were restricted and Aruna who had
drawn sustenance from common people, from her involvement in public life, became a lonely
person. She passed away in July 1996.

21. Which Committee was chaired by Aruna ?
(A) Women’s International Year’s Committee
(B) Steering Committee of Women’s International Year
(C) A Committee of Publicity
(D) Women’s Organizations

22. Who were made the members of the Committee of Publicity ?
Choose the answer from codes given below :
(i)  Representatives from different political parties.
(i)  Representatives from the leftist parties.
(iii) Representatives from the women’s organizations.
(iv) None of the above.

Codes :
(A) (), (i) (B) (), (i)
(C) (), (i), (i) (D) (iv)

23. Aruna earned respect because of
(A) she identified with the leftists
(B) she did not associate with any political party
(C) chairing a Steering Committee
(D) she identified with women’s organizations

24. Who tried to monopolize Aruna as their proprietary right ?

(A) Women Organizations (B) Leftists

(C) Steering Committee (D) Some Political Parties
25. Aruna’s health began to deteriorate from

(A) 1985-2002 (B) 1998 — 2000

(C) 1981 -2000 (D) 1989 - 2001

26. Aruna’s pet cause(s) in her life was/ were
(A) Role of media (B) Economic justice
(C) Reaffirmation of values in public affairs (D) All the above

Y-00 8



Tefefad eIt ot ergEeE Ufeu SR Ue T 21 ¥ 26 % % 3T QI

1975 § L At a9 & SR 7% FY A5l § HH S & FOEL Felr a1 | a9 o9g
e 9iafa o 959 of 3R =M ¥ YR 1 UYRI WSS o9 o1 | fafi= Teitae gent 3
AfgeA TSAT o UiaHTa 3@ QHa § & 3T F-IT St o 39 U 370 TR o1 16T Hid o, T80T
T e % W U ST SRR Al o 3K I WA wU ¥ veted wwe of | 5% S g ik
el fiefl g€ ot o b oIl Wedl st Rl W weha b aoe § T ol | s T
TSI STiaF H S9! TRA SAFGIRI, STl Tl 3T go-Faet AN o Ud Sl HEoT & o 07 &
e 3= T Y SRET BT O ST T O | S E WEd o 7 4 3% % Arhde § arsea et @
YT 3THEHT e Y Fob 37T ST [og T Gob | T off STeht A a1 S & d T T8l
AT T A 3T RIS T T bl 7eg e i AN el Tt ot |

S & [T § — 1980 o II1h o Wed! a6t H 3T 1990 & I & TR a0t § — 3160 3R
3Tel o W@ 1 e 1= ot o | gTeiites Sehl [SHTT sRIs Go1 @, eifsh o 3q g i, <19
Hfge faer, e =T 1 T, Htear ®f iy, Qs A § Jeal i 7. 0T, s
T TS &l 33T Tehl | TR 376! Niafafeat Fid & T 2 S T80T W A § JrasTeh St
ﬁ%ﬂﬁmﬁﬁm—wwmﬁ,émaﬁﬁﬂ%|aiﬁﬁﬂwé1996ﬁ€rmmﬁqw

|
21. 375un ferg Gihfa =i areger of 2

(A) AT Afgen oy wfa (B) TiEeT SIRIET oY HaTe |Hfd

(C) YR @mfq (D) wfeaT T

22. WER [T S 9T T8 =T 74 o7 2 i {§U T Hiel § ¥ 9l 3w g
() T ToHITT® ot & uidr
(i)  STEdel I & uidrr
(i) T TS % Hfamry
(iv) SUe H ¥ P Tl
e

(A) (), (i) (B) (), ()

(C) (), (), (i) (D) @v)
23. 3TEUT = G AT foRam o it

(A) U T P TS Ty o |

(B) o 310 TUeh! fohHl TSHITceh got | =Tt Sigall of |

(C) TaTer WrATq i aTezey of |

(D) o HigeT TSAT ¥ AR TUa et o |

24, T AT 3 STBUM YT YU SATIHR STA ot hITTeT i 2

(A) HfeeT dret A (B) @t 3

(C) wemer wiHie = (D) T TSI geit 3
25. 37BN T Wy o aut & o IR & 2

(A) 1985-2002 (B) 1998-2000

(C) 1981-2000 (D) 1989-2001
26. 378U & STa % U 29T H F i FUHE T 919 2

(A) ifgar =t i (B) anfor =

(C) WIS HTTetl § oot & GmeAT (D) Sude ot
Y-00 9 P.T.O.



217.

28.

29.

30.

31.

A good teacher must be
(A)
(B)
©)
(D)

resourceful and autocratic
resourceful and participative
resourceful and authoritative

resourceful and dominant

Which one of the following is the best
method of teaching ?

(A) Lecture method

(B) Discussion method

(C) Demonstration method
(D) Question-Answer method

Successful Communication in
classroom teaching is

(A) Circular

(B) Reciprocal
(C) Directional
(D)

Influential

Which one of the following types of
evaluation assesses the learning
progress to provide continuous
feedback to both teachers and students
during instruction ?

(A)
(B)
(©)
(D)

Placement evaluation
Formative evaluation
Diagnostic evaluation
Summative

Which one of the following is a scaled
down teaching situation ?

(A)
(B)
(©)
(D)

Macro teaching
Team teaching
Cooperative teaching
Micro teaching

Y-00
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27.

28.

29.

30.

31.

TS 3T TTeTeh o ST
(A) SUREHRTA T4 WESTEN BT Tl |

B qAT AW T &
(B) ;ﬂrﬁq@m EEI)

©) |
(D) SUIFICA TAT SO BT AT |

SR AT STYHING Tgrd

frfafed o § %9 ° fafg Rrefor =t
AT fafy & 2

(A) == faty
(B) ufeem fafy
(C) Few fafy
(D) UK fafy

Ty foreqor § frefefea § @ w9 @
HUN 9%t G & 2

(A) TFAHR

(B) URER®

(C) Tewmeme

(D) UG (FFTURTGT)

ffeifad & 9 69 TR & godiT |
TRV o Tr fereteh e fommelt S
afaufte UeH oA & forw st uiskan
T 3ThoT [T ST & 2

(A) TIFT Jodiwd

(B) oo goaie

(C) TR Jeais
(D) 3ifdy gois

frAfefad & @ i T T TEHd e
ferfa & 2

(A) Tt ToTeToT
(B) 2y fereror
(C) et foretor
(D) TTEshI TeTeToT



32.

33.

34.

35.

CLASS stands for

(A) Complete Literacy and Studies
in Schools

(B) Computer Literates and
Students in Schools

(C) Computer Literacy and Studies
in Schools

(D) Centre for Literacy and Studies
in Schools

Which one of the following is not a

type of experimental method ?
(A) Single group experiment
(B) Residual group experiment
(C) Parallel group experiment
(D) Rational group experiment

Which one of the following is not a
non-parametric test ?

(A) t-test

(B) Sign test

(C) Chi-square test

(D) Run test

Read the following statements — one
labelled as Assertion (A) and the other
as Reason (R) :

Assertion (A) : Qualitative research
in India has a long way to go to
reach international standards.

Reason (R) : Because the funding
agencies do not support
qualitative research in academic
institutions.

Find the correct answer from the

codes given below :

(A) Both (A) and (R) are true and

(R) is the correct explanation of

(A).

Both (A) and (R) are true, but

(R) is not the correct

explanation of (A).

(A) is true, but (R) is false.

Both (A) and (R) are false.

(B)

(©)
(D)
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32.

33.

34.

35.

CLASS T 07 &9 &
(A) FrcAle e ws wWes
He

Fr fofeled e Weed o

(B)
(C) =X facd we wes «
T

AR ®R R wWwe W 3
o
FAfefEd § & S 91 YGieAs o 6
Tsh UK el € 2

(A) THT T A

(B) rafeme THg v

(C) THMIR TYE W

(D) fererehot e

frefafed § 9 &9 91 Th Eaw
S T € 2

(A) =

(B) WETIE

(C) E-THERR 3

(D) WIE

(D)

i feu T < el Fi ufeT — U H
3MIHT (A) T T I HRT (R) FEl
Tl??IT%':

AFUH (A) : LR TR qH ga
H R | TUETUl ¥Y i endr
T T T HEATE |

HROT(R) i foqamoor usiraat
ifersr TEIAT | TorERTuT Y
TOT & A |

(A) (A) @ (R) I @& € @ (R),

(A) T TE TEEHT T |

(A) @ (R) &I #el €, W (R),

(A) T TE TR RN T |

(A) Tl &, W= (R) TTerel € |

(A) T (R) ST TToid & |

(B)

(©)
(D)

P.T.O.



36.

37.

38.

39.

40.

41.

Identify the correct sequence of

research steps :

(A) Selection of topic, review of
literature, data  collection,
interpretation of findings

(B) Review of literature, selection
of topic, data collection,
interpretation of findings

(C) Selection of topic, data
collection, review of literature,
interpretation of findings

(D) Selection of topic, review of
literature, interpretation  of
findings, data collection

Deconstruction is a popular method of
research in

(A) Basic Science

(B) Applied Science

(C) Social Science

(D) Literature

With which one of the following
techniques communality is associated ?
(A) Univariate analysis

(B) Factor analysis

(C) Case studies

(D) SWOT analysis

The variable which impacts the
relationship between an independent
variable and a dependent variable is
known as

(A) antecedent variable

(B) precedent variable

(C) predictor variable

(D) control variable

Which one of the following is a non-
probability sampling method ?

(A) Simple Random Sampling

(B) Stratified Sampling

(C) Cluster Sampling

(D) Quota Sampling

By the year 2022, the Climate Change
Action Plan of Government of India
aims at installing

(A) 20,000 MW of wind power

(B) 25,000 MW of wind power

(C) 20,000 MW of solar power

(D) 10,000 MW of solar power
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IMY o TROT T el A TedIT

(A) faw= =g+, Qifeca qHiem, 3iher
T, SRS &t e

(B) wifee wHwem, fowg =@q, 3iiher
74, Ry =t =

(C) faw= ==q, offhgl o9+, Wifecd
wefter, ey 1 smEn

(D) Toug 9, Aifeca qHteT, My &t

AT, SHST T

forgamr Fefefed § 9 foad oy o
T ARy fafa & 2

(A) T fagm

(B)  rrg fermtr

(C) Tot fomm

(D) e

FEAAS (FHIEdT TEROTT) i qhAIh
frefoiiad ¥ 9 forad Gafid € 2

(A) FARREE TR

B
EC% Y TS
(D) e TATerad

AT T TAT I =T o " GIY hl
e S ool T S 7 Fad & 2

(A) eE =X
(B) e =R

(C) WIRgas =R
(D) =T =R

fefafad & ¥ ®F & I8

T 2022 TF WRA WHRX_ H S0
IR HE-ASHT 1 32T Ffetad |
Y o enfud T € 2

(A) 20,000 HTTETE i o T

(B) 25,000 HTETE St qa fage

(C) 20,000 HTETE =i TR foR

(D) 10,000 FTETE T VR o=




42.

43.

44,

45.

46.

Which one of the following biosphere
reserves has UNESCO recognition ?
(A) Manas

(B) Kanchenjunga

(C) Seshachalam Hills

(D) Greater Nicobar

Which activity contributes to water
pollution more than any other
throughout world ?

(A) Agriculture

(B) Hydroelectric power generation
(C) Industry

(D) Urbanisation

Match List — I with List — Il and find
the correct answer from the codes
given below :
List-1 List— 11
(Biosphere (Area of
Reserve) Location)
a. Nilgiri i. Deccan
Peninsula
b. Manas ii. Chhattisgarh
c. Similipal iii. Eastern
Himalaya
d. Achankmar- iv. Western
Amarkantak Ghat
Codes :
a b c d
(A) i ii i v
(B) ii i v
(C) i v i
(D) iv i i ii
G5 are the five most important

emerging economies of world. Which
one of the following does not form
part of G5 ?

(A) Mexico (B) Brazil
(C) China (D) Korea
Which of the following nations has

the maximum per capita emissions of
carbon di-oxide ?

(A) China

(B) Japan

(C) USA

(D) India
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Trefetfad o 9 foh Seveeia ST e &l
IR (UNESCO) 3t AT et g8 & 9
(A) #AFF
(B) s
(C) Ty fees
(D) WX FelER
frefatad & 9 ®F d@F Tidfary gHaEr 9
A STeT UguOT | Gl AR AT ot € 2
(A) B
(B) TSR UIaR 3cEA
(C) =
(D) TR
g — | 3R g - 1| gaferd ST
3R A U 7T wiel § ¥ W W
T :
= - | = - 1
(SraHEea T (TIT-8¥T)
&)
a. i, ToHT UER
b. AFHw ii. SUETE
c. Tafgetrer iii. qat feaer™
d. eTEeHu iv. afyeet =
TR
0
a b c d
(A i Qi i v
(B) i Qi v i
€) i v i i
() iv Qi i i
S5 g bt T Haite G
TS EEEt § | fAfatEd 7§ %
i e S{i-5 1 I TEl € 2
(A) Afrgent (B) @TSiiet
© SiE) (D) T

frafafed & @ &9 @ T HEA
TSRS & gad S uld e
IS BT & 9

(A) ==

(B) <M=

(C) T T 3T

(D) 9ra
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o4,

The world population growth rate at a
certain reference year was 3.5%.
Assuming exponential growth of
population, after how many years, the
population of the world would have
increased by a factor 16 ?

(A) ~80years (B) ~40years
(C) ~160years (D) ~ 320 years

Telephone is an example of

(A) linear communication

(B) non-linear communication
(C) circular

(D) mechanised

Means of grapevine communication
are

(A) formal (B) informal
(C) critical (D) corporate

Communication  issues at the
international level are addressed by

(A) ILO (B) ITU
(C) UNDP (D) UNESCO
Referential framing used by TV

audience connects media with
(A) reality (B) falsity
(C) negativity (D) passivity

The communicated knowledge in a
classroom is considered as

(A) non-pervasive treasure

(B) limited judgement

(C) autonomous virtue

(D) cultural capital

Classroom communication 5
normally considered as

(A) effective (B) affective
(C) cognitive (D) non-selective

A person writes all the numbers from
0 to 99. The number of times digit 3
will be written is
(A) 18
(C) 20

(B) 19
(D) 21
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forddt forety a o fova e gig &t &3
3.5% ot | Ifg =RETdR S gty
ReheTAT ST ST T {9 s SHEET e
qH 16 % TUTH T Jhg &N 2

(A) ~80ad (B) ~40ad

(C) ~160a8 (D) ~3208W

AR Frefefea § 9 e U
ST € 2
(A) WEEEIR (B) NEF TR

(€) = (D) Hipa

e S9N &% Gre B €
(A) =R (B) MU
(C) smeieATEs (D) i

LT TR W FaR & 5[ q&l &l ==
Toheh gRT ! ST € 2

(A) T (B) ey
(C) & @ (D) Fiwh

FER qreEE! i el Sedr € 2

(A) Femean (B) a7Femeldn
(C) ToRIm&war (D) sk

Tt s ® TmIfta o Bt ETerad 5
1 T ST € 2

(A) F-eawRe i

(B) ifge fom

(C) wrmad JLT

(D) WiEHd HaeT

T G hl G SR HAT ST € 2
(A)  WERter (B) wmaTHE
(C) ¥ (D) 3=

HE A 0 F AR 99 TH B Al
T for@ar & | 399 37k 3 fohel AR
Totan e 2

(A) 18 (B) 19

(C) 20 (D) 21



55. Starting from point A, Ajit walks 14
metres towards west, he then turns to
his right and walks 14 metres and then
turns to his left and walks 10 metres.
He again turns to his left and walks 14
metres and reaches to the point E. The
shortest distance between A and E is
(A) 38 (B) 42
(C) 52 (D) 24

56. A, B, C, D, E and F are sitting around
a round table. A is between E and F. E
is opposite to D and C is not in either
of the neighbouring seats of E. The
person opposite to B is
(A C (B) D
© A (D) F

57. The missing term in the series
2,7,24,77, ?, 723is
(A) 238 (B) 432
(C) 542 (D) 320

58. In certain city the Taxi charges
comprise of a fixed charge and the
charge of the distance travelled. A
person paid I 156 for a journey of
16 km and another person paid ¥ 204
for the journey of 24 km. The amount
paid by a passenger who has travelled
30 km s
(A) 236 (B) 240
(C) 248 (D) 256

59. In certain code HEALTH is written as
KHDOWK. The code of NORTH will be
(A) QRUWK (B) RQWUK
(C) RWQUK (D) RWUKQ

60. Yadav, Arjun, Rajesh and Kamal play
cricket. Rajesh and Kamal play tennis
but do not play football. Yadav does
not play Badminton but play golf.
Arjun does not play tennis. Kamal
sometimes plays Badminton. Who
does play only cricket ?

(A) Yadav (B) Arjun
(C) Rajesh (D) Kamal
Y-00
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55. fog A ¥ 96T X 3T uivad &l 3T
14 HieX T S &, I q% o
T ESHT 14 HiET I & I I a8
O I S 10 HeT T =TT & | T8
T 310 I S ¢ 3 14 Hex =ora &
AN TS E TH GEAN & | A TAME &
e feam 2 fepe & 2
(A) 38 (B) 42
(C) 52 (D) 24

56. A, B, C, D, E @1 F U a1 H9f & =R

57. TlciEd S@en H @ (P2 gaT) T8

FIE?
2, 7,24, 77,7, 723

(A) 238 (B) 432
(C) 542 (D) 320

58. ot 3T § ol & o H 9 uew
o & ;. Mivea foxmr qeon 99 = T
T4 T AT | T AR A 16 Theamey
H AT & U T 156/- F PTAE T
AR TH 3 Al 3 24 [FeAMRT H
ET % fTT T 204/- P THAT
30 THAMET & AT HH Aol St
foha TUT 37T BT 2
(A) 236 (B) 240
(C) 248 (D) 256

59. U %I § HEALTH % KHDOWK forar
ST € | NORTH o %I &I
(A) QRUWK (B) RQWUK
(C) RWQUK (D) RWUKQ

60. AR, 3T, TSI T FHA fshehe Wetd
T | TOY A FEA 29 Gerd & Al
Fediel el Wold © | ARd JeHed el
GoAdT W] TMe® Gordl & | 3 o9
TEl WeAdT | HHel HHI-HHT St Gordl

T | I ool fshohe TelaT & 2

(A) I== (B) I
(C) st (D) FHHA
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